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In the proof of Proposition 1 of the paper "Placebo Reforms" (American
Economic Review 103, 1490-1506, 2015), the derivation of the final expression
for player t’s expected gross payoff (which appears at the very bottom of p.
1495 of the published version) is inaccurate. The expression itself is correct.
The following is a correct derivation.
Define player t’s gross payoff from choosing a 6= 0 to be equal to his payoff

from this action plus εt. Let us first verify that the strategy described in the
statement of the result is an equilibrium strategy. Suppose that player t chooses
some a 6= 0 and that r(t) = t+ n. Then, player t’s gross payoff is

(1− δ)

 n∑
j=1

δj−1(jµa + ε
t+j) +

∞∑
j=n+1

δj−1(nµa + ε
t+n)


The term εt+j for j = 1, ..., n is missing from the original version. Given that
all players s > t intervene if and only if εs < ε∗, player t’s expected gross payoff
from choosing a 6= 0 is therefore

(1−δ)
∞∑
n=1

Fa(ε
∗)(1−Fa(ε∗))n−1

n−1∑
j=1

δj−1 (jµa + E(ε | ε > ε∗)) +

∞∑
j=n

δj−1 (nµa + E(ε | ε < ε∗))


where

E(ε | ε > ε∗) =

∫∞
ε∗
εfa(ε)dε

1− Fa(ε∗)

E(ε | ε < ε∗) =

∫ ε∗
−∞ εfa(ε)dε

Fa(ε∗)

The reason is that when r(t) = t+ n, it must be the case that εt+j > ε∗ for all
j = 1, ..., n− 1 and εt+n < ε∗.

∗I am extremely grateful to Kfir Eliaz for discovering the error in the proof.
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Now, straightforward algebra establishes that

∞∑
n=1

Fa(ε
∗)(1− Fa(ε∗))n−1

n−1∑
j=1

δj−1E(ε | ε > ε∗) + δn−1E(ε | ε < ε∗)

 = 0
Therefore, the expression for player t’s expected gross payoff can be rewritten
as

(1−δ)
∞∑
n=1

Fa(ε
∗)(1−Fa(ε∗))n−1

 n∑
j=1

δj−1jµa +

∞∑
j=n+1

δj−1 (nµa + E(ε | ε < ε∗))


which is the exact same expression that appears in the original proof. This
expression in turn is indeed equal to

µa + δ
∫ ε∗
−∞ εfa(ε)dε

1− δ(1− Fa(ε∗))
as appears at the very bottom of p. 1495 of the published version.
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